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1p 35 What message does Anne McElvoy want to convey in paragraph 4?  
A aim for transparency  
B be cautious 
C bestow compliments  
D maintain impartiality 
E share emotions 
F show sympathy 
 

1p 36 Which of the following fits the gap in paragraph 6? 
A After all 
B In a nutshell 
C In fact 
D Therefore 
E Yet 
 
 

Tekst 9  Cruel trade in rhino horns 

 
1p 37 Which of the following statements is in line with Michael Eustace’s 

opinion? 
A Conventional law enforcement has come a long way in fighting the 

horn trade. 
B Demystifying the alleged medicinal powers of rhino horn will help curb 

demand.  
C Introducing commercially bred rhino horn into the supply chain will 

help satisfy demand. 
D Legalising the horn trade would remove the stigma of buying illegal 

products, thus stimulating demand. 
 

1p 38 Which of the following sentences sums up the article?  
A A well-structured legal trade may be the best solution. 
B Poachers should be enlisted in the fight against poaching.  
C Reducing demand is the next best thing to removing demand. 
D South Africa will pay the price for its lax approach to poaching. 
 
 

Tekst 10  Taxonomists? Who needs them? 

 
1p 39 Which of the following fits the gap in paragraph 2? 

A After all 
B As a result 
C Furthermore 
D In other words 
E On the other hand 
 
 
Let op: de laatste vragen van dit examen staan op de volgende pagina. 


